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Topic:- General Knowledge

1) As per Census 2011, what is the literacy rate in Madhya Pradesh? /
SRTUMAT 2011 & SRR, HAVSRT W HIGRET &3 T 32

1. 63.74%

2.71.13%

3.57.56%

4.69.32%

Correct Answer :-

. 69.32%

2) Who among the following has been appointed as Chairman of 15™ Finance Commission of India on November 20172 /

Prafufea 3 @ fFa TaaR 2017 B WRT ¥ 15° 137 AT & sea8l & = § Frgea e ma ar
1. Bishwadip Dey / fa%ca $

2. N.K. Singh / T1.%.Rig

3. Alok Kumar Verma / 3TaI® $HHR JAI

4. Vikas Swarup / [d® T o=y

Correct Answer :-

. N.K. Singh/T.&%.Rig

3) Who won the 82" Senior National Championship Title of Badminton in women’s single category on November 2017? /
THER 2017 B wizansi B gwa Aoit § Jsfien & 82¥ alg iy Arg=Rg f@ara w1 few e

1. Ashwini Ponnappa/ ST O

2. Saina Nehwal / gl ﬂ%am

3. Jwala Gutta / SATCIT I[ST

4. P.V. Sindhu / G191 Rig

Correct Answer :-

« Saina Nehwal / 91T Agardt

4) Who is the Speaker of Madhya Pradesh Vidhan Sabha? /
Ty fae gHT & gHTUfa @ fidr) P 82

1. Sitasharan Sharma / TR Tt

2. Brijmohan Mishra / W s
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3. Ishwardas Rohani /gm 3 BIU
4. Sriniwas Tiwari / S=arg faarR

Correct Answer :-

« Sitasharan Sharma / SRR <A

5) Who is the only batsman to score 3 double-hundreds in One Day International cricket? /
TP ieadg SRTPIa fhdbe & 3 GIe¥-Xa® 9911 aren UHHTs fEamst $14 32

1. Virender Sehwag / dR% gganT

2. A.B. DeVilliers / Tt fefaferasd

3. Rohit Sharma / fgd AT

4, Chris Gayle / IERKI

Correct Answer :-

« Rohit Sharma /3 %?‘I i

6) Tansen, the Father of Hindustani music, belongs from which of the following places of Madhya Pradesh? /
Rgar Wil & 99® ‘aF AT gaves ¥ Fuffed & & o9 3 w3 Gdlta 82

1. Balaghat / ScITUIC

2. Sawan / gTd-

3. Behat / a_E?_C'

4. Depalpur / m

Correct Answer :-

. Behat /98¢

7) When is the term of the present Madhya Pradesh Vidhan Sabha scheduled to end? /
TJAAT HHEYS FIUHY &1 RIS $9 GATE §41 F1ad 372

1. January 2019 / ST 2019

2. September 2018 / fidex 2018

3. March 2019 / |9 2019

4. November 2018 / TdsR 2018

Correct Answer :-

« January 2019 / SRl 2019

8) 20 MLAs of ‘Aam Aaadmi Party’ were disqualified on January 2018 for which of the following grounds? /

3 3Tt Ul & 20 faumae) o Fafifed snuR & Ted Sa’t 2018 BT g Nt fvar war a2
1. Criminal proceedings in court / 3{qIeld T R A | W'If[

2. Holding office of profit / dTH UG UG YHTAT

3. Disproportionate assets to income / 3T ¥ 3fYH U

4. Wrong information given in affidavit / TUYYF T TTAd STHBRT &
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Correct Answer :-

« Holding office of profit / ATH HHMATAT UG FHTTT

9) What is the motto of Madhya Pradesh Tourism Development Corporation? /

Ay Ted faerd A &1 < arey (3Rt ate) w82

1. God’s Own Country / HITdTH [ SO G GTT@Q 31;]?5!7_@)

2. Every Thing’s Possible / 8 Aol §Hd g CEINRIRRNRIC))

3. The Heart of Incredible India / 3Jed HRd DT el ( BTC 31t STopead sfeam

4. The Land with Rich Forest Cover / ¥H& d- JTARUT Yo '{&[ (@ oS fag fra wie PAR)

Correct Answer :-

« The Heart of Incredible India / AJcd HRd Pl g (_C('E'l_c.F 3 APhfead gfean

10) Paras Chandra Jain is the Minister of _ under Government of Madhya Pradesh. /
TAVCIINA S dgaURIag o wAl gl

1. Science & Technology / ﬁ?ﬂ’f@?ﬁ?ﬂﬁlﬁ

2. Panchayati Raj / BEIBGIKS

3. Energy / ol

4. Animal Husbandry / YR[UTSIT

Correct Answer :-

o Energy / 3Vl

11) Where in Madhya Pradesh is the ‘Makhanlal Chaturvedi Rashtriya Patrakarita Evam Sanchar Vishwavidyalay’ located? /
AU H ‘HIREATd Igddl AP UASTal d Har fayfasmerya ol fRua 82

1. Jabalpur / SISTYY

2. Gwalior / TaTfCRR

3. Indore / s’él%
4. Bhopal / T

Correct Answer :-

« Bhopal / T

12) CANCELLED
Osho Rajneesh was born in which of the following districts of Madhya Pradesh? /

ST TSI BT o770 Heg W1 & Fufafaa & @ <1 3 fora o gem am
1. Narsingpur / W

2. Ratlam / Xd<ITH
3. Tikamgarh / WT?{

4, Mandla / H&dl

Correct Answer :-
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« Narsingpur / W

13) In which of the following cities of Madhya Pradesh is the Security Paper Mill located at? /
YR & fFafifad & 4 o9 4 2w # Rreaid T fra R 82

1. Gwalior / TR

2. Bhopal / e

3. Dewas / AR

4. Hoshangabad / BIRIIETG

Correct Answer :-

« Hoshangabad / HEIEICI

14) ‘Meri Ikyavan Kavitayen’ is the work of which of the following writers hailing from Madhya Pradesh? /
A THRITE HIIAE 7 YN | HIRa Frafafea 7 4 fru dus S pfa g?

1. Atal Bihari Vajpayee / 3fccd IERREISER]

2. Nida Fazli / a1 wrerelt

3. Makhanlal Chaturvedi / HRATCITS ﬂﬁ

4, Bhagwan Datt Sharma / H¥TdT qd Tf

Correct Answer :-

« Atal Bihari Vajpayee / 3cdl IERNEISEL

15) 'Tower of Silence' is associated with which of the following religions in India? /
R4 § fFrefafed & 9 fea ud & a1y <ray e s 6afiia 82

1. Parsi / URE!

2. Islam / XIH

3. Buddhism / G

4. Jainism / S

Correct Answer :-

« Parsi /ORI

16) Which of the following was India’s first indigenously made color movie? /
TYH HRA Wit Wi fren Frafafea A @ s @ a2

1. Raja Harishchandra / XTSIT Ry

2. Mughal-E-Azam / HITI-U-3TTH

3. Alam Ara / 3TAH 3RT

4, Kisan Kanya / fam &=

Correct Answer :-

« Kisan Kanya / 8 &1
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17) Dr. M. Balmuralikrishna was a renowned artist of

ST, . SIARATH I F TP s FATOR 1

1. Tabla / d&dl

2. Hindustani vocal / fg~g&d =1 T

3. Carnatic vocal / PHTed T

4, Flute / W

Correct Answer :-

« Carnatic vocal / ®Ted T

Topic:- General Hindi

1) e & g wd) Wi fade # gfm
1. Ag+3{h

2. Tg+3Th

3, 3D

4. Tg+3HDb

Correct Answer :-

. A3

2) Res T s g FRA eI Fuddsaars?

1. 3nfgdta
2. g
3. Sffgelta
4, A

Correct Answer :-

3) A FIYS U AT A AP
1. Ta1&f
2. 7194
3. TTaTéf
4. T9&

Correct Answer :-

4) qT¢ 1Y BT V@ GeTa¥ &1 IS g Reei A s arg?
1. 3 A B A BT

2. Jfd WA sH

3. SF TR T A G

4. 918 71y F @A

GET IT ON
Google Play
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Correct Answer :-

o fAWITFH

5) 3@ & e udt wafgardt ara wegl &t ufda &1 g

1. g1, 3, Hrel
2. g, Sifer, 9
3. g, St 9y
4, g, 3ifEr, A9

Correct Answer :-

o g, SifeE, 9

6) s & forg wgt |@fY fawdg &t g

1. fafams
2. fomm+amm

3. fom+am

4. fuq+3m

Correct Answer :-

. fﬁq+3-|‘|3|‘|‘

7) FsAr F e gt vafgard ama wsgl 9t ufds #1 g
1. f=manR, g, 35
2. =T, guTaR, 35
3. PR, guma, $g
4. fARIR, guTav, 35

Correct Answer :-

8) ‘Bl 3T 7 e YeTak &1 3 e R A A par e
1. oRT i 3BT 9 @
2. Bl S & 3BT AT

3. B 3 ¥ 33T AT

4. 33T AT

Correct Answer :-

o oR7 ot ST A AT

9) HIH T UL T9Hd g0 THH g4 a1d | - ¥ 59 T F &9 91 3P 82

1. 3UHT 3ADR

2. JS1ad SAdR
3. Topifad SABR

4, 399 DR

Correct Answer :-
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10) Rigei ft H= A DR < Aa A

Y bt ot F fag R+ sna A

STt 3t ok IR Wi B ardht &1 1 - B e # F B9 91 e 82
1. JUHAT 3{efbR

2. Toiad SAHR

3. THIfGA SHAPR

4, e AABR

Correct Answer :-

o JUHAT DR

11) T ST A g1 W5 A A A P ATR?
1.gm™

2,99
3. 9

4. a4+

Correct Answer :-

12) f Ui AT P A A s AT
1. Jarfes

2.9R

3. IR

4, fagmr

Correct Answer :-

13) ‘BT BT g § A B 91 T e e 82
1.9R

2.dR

3. faR

4. R

Correct Answer :-

14) ‘GYYY T e GRS g Fa A s arg:?
1LUYY Yy
2. TYH Yy
3. QYR Y
4. QY BT YT

GET IT ON
Google Play
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Correct Answer :-

. TYIYY

15) ‘R g A fFaT s 9% & o v T P A A S W1 §2
1. 3l
2. A3
3. 3B

4, ey

Correct Answer :-

. 3eg

16) Id &1 fm & & P17 T1 T faeiy wsg 32
1. 3RR
2. R
3. HW

4. 3

Correct Answer :-

17) 5 foar 3fa wf fean, v v e varg )

3af A T UaH, 3@ 7 Hg WRarg| - A g A AP I
1. A% 9

2. 3GYA T

3. R ™

4. Mfad X

Correct Answer :-

o YA

Topic:- General English

1) Select the suitable conjunction to complete the sentence:
I shall be happy _ my brother goes with me.

1. when

2. before

3. since

4, after

Correct Answer :-

e when

2) Choose the most suitable prefix for the given sentence:

GET IT ON

Google Play
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The coral reef of the Great Barrier Reef is __comparable.

1. dis-

2. un-

3. in-

4. ir-

Correct Answer :-

. in-

3) Choose the most suitable determiner for the given sentence:
There is of milk in the refrigerator; everyone can have a glass.
1. either

2. some

3. every

4. plenty

Correct Answer :-

4) Choose the correct form of tense for the given sentence:

They a lot of time brainstorming on the problem and have not yet reached a conclusion.
1. was spending

2. has been spending

3. spends

4, have spent

Correct Answer :-

« have spent

5) Choose the correct form of modal auxiliary verb for the given sentence:
Yesterday, while rushing to catch the bus, I lost my umbrella. I __ have left it at the bus stop.
1. must

2. should

3. shall

4, would

Correct Answer :-

e must

6) Choose appropriate articles for the given sentence:

Cars from _____ early days were different from ____ ones we see today.

1. the, the
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2. the, an
3. a, the
4. an, the

Correct Answer :-

« the, the

7) Spot the error in the given sentence:
A crowd of people has gathered to watching the cricket match.

1. Gathered to watching
2. A crowd of

3. The cricket match

4. People has

Correct Answer :-

« Gathered to watching

8) Fill in the blanks with the present perfect tense of the verb from the given options:
They their rooms, so they are punished.

1. have not clean

2. have not cleaned

3. has not clean

4. has not cleaned

Correct Answer :-
« have not cleaned

9) Give the noun form of the underlined word in the given sentence:

The woman took objectionable to the abusive language used by the auto driver.
1. objectional

2. objectionness

3. objective

4. objection

Correct Answer :-

« objection

10) Choose the appropriate preposition for the given sentence.
River Thames flows the London Bridge.

1. beside
2. off
3. under

4. on
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Correct Answer :-

o under

11) Choose the appropriate form of the verb to complete the given sentence.
If he ____ there, he must have heard the talk.

1. 1is

2. have been

3. was

4. were

Correct Answer :-

12) Choose the appropriate preposition to complete the given sentence.

When will they arrive, the airport?

1. at
2.1in
3.to

4. on

Correct Answer :-

13) Choose the appropriate articles to complete the given sentence.

The doctor says that mine is ____ hopeless case. He says that I should live in ___ open air.
1. the, a

2.a,a

3. a, the

4. an, an

Correct Answer :-

e a,the

14) Choose the option with the appropriate punctuation inserted in the given sentence.
The wind being favorable they sailed

1. The wind, being favorable they sailed.

2. The wind, being favorable, they sailed

3. The wind being favorable, they sailed

4, The wind being favorable, they sailed.

Correct Answer :-

« The wind being favorable, they sailed.
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15) Choose the option with the appropriate punctuation inserted in the given sentence.
Will your brother come to pick us up from the station

1. will your Brother come to pick us up from the Station!

2. Will your brother; come to pick us up from the station?

3. Will your brother come to pick us up from the station?

4. Will your brother: come to pick us up from the station?

Correct Answer :-
« Will your brother come to pick us up from the station?

16) Choose the option that best transforms the given sentence using a question tag:
He hasn't returned from his trip,

1. have he?

2.isn’t he?

3. has he?

4. hasn’t he?

Correct Answer :-

« has he?

17) Choose the correct form of verbs that is in agreement with the subject:

I am sure you can the problem to her and the solution.

1. has explain found
2. explained, finding
3. explaining, finds

4. explain, find

Correct Answer :-
« explain, find

Topic:- General Maths

1) Each side of a regular polygon is 12.5 cm in length. The perimeter of the polygon is 87.5cm. How many sides does the
polygon have? /

wgﬁwmm B IS YT F Ga1S 12.5 A7, 1 gy Ft uRkfy 87.5 A, } 1 sgy=r & faeit
Yo 2?2

1.5
2. 11
3.7

4.9

Correct Answer :-
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Deepak purchases 60 kg and 85 kg bags of cement. The maximum value of weight which can measure the weight of the
cement exact number of times is: /

$rue, e F 60 FPaU 3R 85 fHamM & I e § 1 ao &1 ARpaH A &l WA & aoq B g wud
P gR A Pl §:

1. 5 kg / 5 fpammd

2. 12 kg / 12 fpamm
3.20 kg / 20 fpamm
4.17 kg / 17 foraimmmy

Correct Answer :-

. 5kg/ s fparm

3) The sum of three consecutive numbers is 66. Find the least of the three numbers. /

A e T=ATail BT AT 66 21 37 9 T=ei & A e SIET I J1d HY |

4) Harpreet's suitcase is locked and has a four-digit password starting from 574P. Harpreet randomly remembers that the
number is divisible by 3. How many trials he needs to do to get the correct password? /

O BT ey Al 8 TAT § 3R IYH IR-3/ $TUTHTS ¢ Sl 574P A Y gl ¢ | e3id &) aefds FudA e 8
fr 98 W@ 3 A fauTsy 31 98 UaS ure #34 & fore 39 e udierur 31 Y sravaddr 82

1. One / Uch
2. Two /@

3. Four /dR
4. Three / H

Correct Answer :-

« Three /dH

5) CANCELLED

2 b ! 5
A number is multiplied by i and % is added toit. If the result so obtained is % subtracted from i

e 2

times the original number, then find the number. /

wa’waﬁr% & T fhar Sar @ R sEd 2 & Ser arar 81 afg aRone sa

b | L

YR Ued BT & & HJe a9 &

| e

A S P R S A S A

66
1. 17
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6) Which of the following is a rational number? /
fFrafafEa % 3 o9 M e iau aen @2

1. 34373

, 2437/3

3. 5433

4 4433

Correct Answer :-

. 3433

7) Numerator of a fraction is 5 more than 5 times its denominator. When 5 is subtracted from the numerator of the fraction
and added to its denominator, the fraction becomes equal to 4. Find the original fraction. /

TS T 7 3731, ISP & P 5 AT A 5 3D 8 | 57a fH71 & 3i=1 F 5 a1 oiran & 3R 3P gX A wils R wmar g, @
e &1 9 4 & RIeR 81 5141 8 | IR s 31 $I

[ 3] o [ 3]
w8 =%

—
=]
L

2

[

4.4

Correct Answer :-
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Uday studies 6 % hours daily. He spends 1 3 hours of his time for Hindi and 1 é for English. How

much time does he spend for mathematics if he spends rest of the time equally on mathematics

and science? /

m%ﬁ%d‘&awuﬁ T ¢ a@’lgé%%frawlgéﬁaiﬁsﬁﬁmw

H

T HIaT §1 TfE 98 AV HHG F aUE AT A0 ve e & =5 war g, ar

a8 T10g & fohaer @A =99 Far 87

1
33

hours [/ 3% g¢

2 hours / 2 g
2. 3 3

12hours / 12 &
3. 3 3

10
3

Correct Answer :

hours J'rj;i_o e

1 hours / 12 g2
3 3

9) A rectangular park is 13% m long and 10% m wide Find its perimeter. /

wmﬁu%ﬁaﬁamwiﬁaiﬁm%lgﬂﬁﬁwﬁl

1.47

2.48

3.47

4,46

1m/47.1 R
2m/ 482 HeR
4m/474HR
9m/46.9 HieR

Correct Answer :-

o 47

10)

11)

1m/47.1 Hiex

Riva chooses a number, subtracts % from it and multiplies the number by 12.The result now
obtained is %times the original number. Find the number. /

fear vk war gadt 8,388 & 2w € 3R 3w dEm A 12 F aem e @) 3@
ured IROTH, HeT §EAT F 2 I B AT A

The value of (*11-42)*is: /
(11-2¢ T AT &
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;1342411
5, 1342422
3, 13-2422
4 132411

Correct Answer :-

13-24/22

12) What is the value of k", if fix) = x? + 3x? —kx + 4 is divided by x — 2, and the remainder is 147 [/
K & AT T E, A fx)=x3+3x% —kx+4 T x—2 @RI faenfaa famar amar 3k
dYhel 14 BT 27

1.5

2.6

3.7

4.4

Correct Answer :-

1
13) Which of the following cubic polvnomials have g,— N and 2 asits zeroes? /

frafofad # ¥ &= ¥ == agual & a@z,—iaﬂTz 4
13- +4x 3
2. 3P +6xITx+2

3 2x3-11x1+2x 3

4 43 - 12x1+ 5%+ 6

Correct Answer :-

453 -12x1+5x+6

14) Eindthesolionof = +>= = 4+ x . J
3 & 12

=+
3

o |

==+ x & 59 79 F

1. 1.45833

Correct Answer :-

GET IT ON

Google Play
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15) A quadratic polvnomial with sum of zeroes — L and product of zeroes % can be: /

w@mﬁw%&ﬁwﬂ—%&h&ﬁww%ﬁaﬁﬁmﬁ:
1L x34+2x +2

2 1 1
5 x‘+;x +:

16) The difference between the interior angle and the exterior angle of a regular polygon is 60°. The

polvgonisa A
U HH dgele (WIOR dicllenier) & 3aRes $ior AR Sedl FIoT & i F1 HR 60° %

agee U gl

1. Octagon / 3{SCH]
2. Hexagon / ¥gHul
3. Septagon / &Yl

4. Pentagon / UaYsl

Correct Answer :-

« Hexagon / Ygyul

17) 2" =2048.;n=7"
1.12
2.11
3.10

4,13

Correct Answer :-

Topic:- General Aptitude

1) In a certain code ‘GIVEN’ is written as ‘JHVOF’. How is’ SHARK written in that code? /
s fAfera Fe § ‘GIVEN’ #1 “JJHVOF’ % ®9 & forar Srar 81 S #ie # ‘SHARK’® & fr yohe forar?
1. TUSPQ

2. OPSUI
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3. ITALS
4. QRFML

Correct Answer :-

« ITALS

2) An uneducated retailer marks all his goods at 75% above the cost price and thinking that he will still make 25% profit,
offers a discount of 25% on the market price. What is his actual profit on the sales? /

TS Sffra Bew fashar sraa it [ &) anTa goa [ 75% Sifte fafgd war 8 i ag e 8 f 259 #t
ge ¢ W 98 25% &1 a1y TR HR A | AP 39 v Fi At R I arafas ey fbaan g

1.31.35%
2.31.36%
3.31.52%
4.31.25%

Correct Answer :-

* 31.25%

3) A vessel of 64 litres is filled with milk and water. 70% of milk and 30% of water is taken out of the vessel. It is found that
the vessel is vacated by 55%. Find the initial quantity of milk (m) and water (w) in litres? /

64 1eX & TP g B gY IR I A WRT AT 70% G 3N 30% U Y 9= & q1e= frawTen wan| a5 uran wan %
e Bt 55% TP Tl B 1391 T Y (m) 3R T (w) Bt TRIHS AT diex A g1a sifg?

1. m=28,w=23
2. m=40,w=24
3. m=35,w=20
4. m=26,w=21

Correct Answer :-

4) The difference of two numbers is 1460. If 2.7% of one number is 4.5% of the other number, then find the two numbers? /
& T3 BT 3R 1460 71 AT TPH WA BT 2.7%, 30 W FT4.5% &, Al GF1 HSATY T BHG?

1. 2180, 3640

2.2170, 3630

3.2175,3635

4. 2190, 3650

Correct Answer :-

« 2190, 3650

5) The average salary of the entire staff in an office is Rs. 130 per month. The average salary of officers is Rs. 450 and that
of non-officers is Rs. 120. If the number of officers is 15, then find the number of non-officers in the office? /

TP pratay § It FHARG) BT 3iTd 397 130 % Ul A1 21 TUSTREY P71 3NFd 3d 450 ¥ & 3R AR-3rfrmiivay
P1120 3. 21 Tf AU Y T= 15 B, A Pratea # R-Reial &1 I=m yid Fifvne?
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1. 450

2.460

3. 470

4. 480

Correct Answer :-

* 480

6) If ‘ATTENDED’ is coded as ‘DEDNETTA’, then how will you code ‘ADVOCACY’? /
IfT ‘ATTENDED’ &1 ‘DEDNETTA’ § FIfed fFaT SITAT § a7 3T CADVOCACY’ FT fhg T I d H31?
1. YCAOCADA

2. YCAVACDO

3. CADOYACV

4. YCACOVDA

Correct Answer :-

« YCACOVDA

7) If the first digit in each number is reduced by 1 and its position is interchange with position of the second digit, then
which of the following numbers will be the largest?

259, 824, 635, 418,347 /

afe Teie W & e o, 1 A BH B AT i SR Sua) R 2¥ o Y R & wry 3o & e & W, @
fFafafaa & Q Fi9 & Jem e 93! ghfiz

259, 824, 635, 418, 347
1. 824
2.635
3.418
4,259

Correct Answer :-

« 259

8) Gopal’s salary was decreased by 50% and subsequently increased by 40%. How much percent does he lose? /
TINUTE BT AT 50% TP TeT 7 a1 3R 918 | 40% a9 3t gix B & i | 3 fpam ufomra &1 JHae gane?
1.25%

2. 40%

3.35%

4.30%

Correct Answer :-

e 30%
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A runner takes as much time in running 18 meters as the bike takes in covering 25 meters. Find the distance covered by the
runner during the time the bike covers 1 km. /

TP UGS 18 Wiex Ta A Ia-11 0y AT 8 a1 9159 a1 25 M au wea A aran 81 959 gr1 1 feft gt o
B S IR TGP gRT a9 B TS g8 F1d SR

1. 720 meters / 720 T
2. 760 meters / 760 TR
3. 740 meters / 740 HIcR
4. 700 meters / 700 HIcX

Correct Answer :-

« 720 meters / 720 Hiex

10) Mohit bought a horse and a carriage for Rs. 4000. He sold the horse at a gain of 20% and the carriage at a loss of 10%,
thereby gaining 2% on the whole. Find the cost of the horse? /

HIfEd A TP ST 3R TP ST 4000 TUT T WIS | IHA GIST 20% P ATH UR 3R TS B 10% BT 811 W 3= e,
o T fAaTHR 3 2% T ATH §3MTI TS B! HIAd 19 DITT?

1. Rs. 1000 / 1000 3T
2. Rs. 1400 / 1400 390
3. Rs. 1200 / 1200 ¥TI
4.Rs. 1600 / 1600 ¥4

Correct Answer :-

« Rs. 1600 / 1600 343

11) In how many different ways can the letters of the word ‘CRAZY’ be arranged? /
fra Tl F 958 ‘CRAZY’ F & HT AT 3T ST Tl 57

1. 260

2. 160

3.225

4. 120

Correct Answer :-
« 120

12) The average age of a mother and her two twin daughters born on the same day is 20 years. The ratio of the ages of mother
and one of her daughter is 6:2 respectively. What is the mother’s age? /

T Hi 3R T & 37 Uer g2 Ut 31 eai afea) 9 sitad 3y 20 I1e {1 Hi 3R SHS! TP 9 Y 31g BT U
HHTT: 6:2 B 1 A B TG 7T 7?2

1. 20 years / 20Ty
2. 18 years / 183'5f
3.36years/ 36 Y

4. 24 years / 24TY

Correct Answer :-
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e 36 vyears/ 36T

13) The average of first 51 natural numbersis___./

TR 51 ITHiaH Gearsi #Tfaa__ #l
1.28
2.26
3.30
4.24

Correct Answer :-

14) Reshma is 40 years old and Monisha is 60 years old. How many years ago was the ratio of their ages 3:5 respectively? /
=T 40 T F} 7 3R A= 60 af F B | fraq af ugd ITHT 3TY BT SJUTA HHT: 3:5 UT?

1. 15 years / 15 ay

2.18 years / 18 ay

3. 24 years/ 24 a'ﬁf

4. 10 years / 103@?

Correct Answer :-

e 10years/ 1OE|'Ef

15) Two cards are drawn together from a pack of 52 cards. The probability that one is a spade and one is heart is: /

52 TN aTelt U TS A & U T 91y e T U g9 iR Ue fiw g9 3t wilkiear A #:

Correct Answer :-

1B
102

Topic:- General Computer

1) To install a new printer, the option on control panel is used. /

% =47 file? $3eia #31 & Ry, Fea Ha w® TR BT IUTNT fHar wirar 21
1. Install New Printer / EEEIJFT qfha

2. Install / EET?T
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3. Add Software / TS TIHCATR
4. Add New Printer / TS = e

Correct Answer :-

« Add New Printer / TS = Uer

2) In MS Excel 2010, which of the following tabs can be used to delete rows and columns? /

THTH TR 2010 H, 3 3R Fiadi 31 fSefte F31 & fore Fafafea § @ 19 9 29 &1 3w fFan o wwar g2
1. Insert tab / ST ¢

2. Home tab / BH &

3. Design tab / {&oIT81 ¢

4. Layout tab / A3MT3T

Correct Answer :-

« Home tab / Eﬁ'q%a'

3) In MS Excel 2010, which of the following options will allow you to highlight the top or bottom numbers or percent in the
selected cells? /

THEY THAd 2010 A, FAufefaa & @ 19 a1 e snue! Iufeda I« § efq a1 sicw $1 Samsit a1 ufawa &1
FTAISE B B AT 32

1. Data Bars / @;’ETW
2. Color Scales / HR Thed

3. Top/Bottom Rules / SI4/dlcH ¥cq

4. Highlight Cells Rules / IRAIRC Hedl T

Correct Answer :-

« Top/Bottom Rules / TIU/S[cH ®eq

4) In MS Excel 2010, minimize button is located at the N
THEY THAd 2010 ¥, fArftwgss e R fRYTgar el
1. lower right-hand corner / BIERRIEIR (F'ﬁ\?ﬂ ﬂ%‘c’-%? aﬁ:h)

2. lower left-hand corner / e §T¢ I (Fﬁ R AR-ES Eb—\ll:h)

3. upper right-hand corner / $URI GIgH B (TR BT Eﬁ;h)

4. upper left-hand corner / 3R] &Y CIE| (3R ARG EF\I’:k)

Correct Answer :-

« upper right-hand corner / S qIfg & (SRR 33-%'337—\#&)

5) In MS Excel 2007, a reference that refers to the same cell or cell range on multiple sheets is called a ./

THTH TR 2007 §, TP Yod St gedivd Hficd R 0= O a1 99 ¥ 31 e wvar g 39 T gl
1. Multi Dimensional reference / 9g St W’-f(rl('—fﬁ Wﬁwm

2. 2-D reference / 2-D R
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3. 1-D reference / 1-D RB3g
4. 3-D reference / 3-D R

Correct Answer :-

« 3-D reference / 3-D RB¥g

6) In MS Excel 2007, what is AutoFilter? /

THTH TR 2007 H, Sicithees 7182

1. It filters out the uncorrected words / Ug Srgnfaa Q]FQP[ &I flhee Har %‘I

2. It filters out the rows from a data table / Jg Udh 321 ¢9d I A &l fheex Har %I
3. None of the above / G'Q'éaﬂ 3 H’ﬂg -_ﬁ"[

4. Tt filters out only numerical values / Ig HId TBATHS A Bl flheex Frdl %I

Correct Answer :-

« It filters out the rows from a data table / Ig Udh STl oFd I A Bl fhee HIam %l

7) In MS Excel 2007, which button will allow you to view or hide the comment associated with the currently selected cell? /
THTY TR 2007 §, HI G &1 ATUD] FIATH A Tafd Hd | Hafta sHe &1 og a1 g138 H1 @1 3rgafa Sm?

1. Show/Hide button / TN/8T8S S

2. Find button / P15 dc

3. View/Hide button / /8IS &

4. View button / & dc

Correct Answer :-

« Show/Hide button / TN/ETSS de-

8) In MS Excel 2010, a task pane is similar to a .
T TR 2010 W, Th eRP U9 S IHH BTl
1. Text box / CRE S

2. Virtual box / aﬁ&m Sl

3. Dialog box / AN Sied

4, Shapes /e

Correct Answer :-

« Dialog box / SN Sidq

9) In MS Excel 2010, the shortcut key used to apply the time format with the hour and minute, and AM or PM is: /
THTH T 2010 H, WEdHe Bt Sl ge 3R e, Td AM IT PM F 1Y T8I WA a1 & g waiT 35t oIt 8:
1. Ctrl+Shift+#

2. Ctrl+Shift+T

3. Ctrl+Shift+()

4. Ctrl+Shift+@
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Correct Answer :-

. Ctrl+Shift+@

10) In MS Word 2007, by default the file will be saved in extension. /
THTH 98 2007 ¥, Wl TUTAWISA_ TRICKH | A g1 wnwatt

1. .docx

2. .pdf

3. .xml

4. xtml

Correct Answer :-

11) In MS Word 2010, the redline that occurs while typing under any word indicates: /
THTY a8 2010 ¥, freft oft 2req & 2 eTsu 4 9w 3 arelt ArevET R Fdl 8:
1. It is an important word / Ig Udh W e %

2. Used more than one time / Th T 31 IR W ICIRIES %

3. Spacing is more / @ e{fﬁw%

4. Misspelled word / TTId CRRIRICH

Correct Answer :-

« Misspelled word / TTTTd a1 eq

12) In MS Word 2010, which of the following shortcut keys is used for font ribbon? /
THTH 78 2010 H, Wi ae & fog fFrerferaa ® & foow widee @1 &1 sxiaTa fosar siman 82
1. Ctrl+V

2. Ctrl+F

3. Ctrl+D

4. Ctrl+S

Correct Answer :-

o Ctrl+D

13) In MS Word 2010, a small character can be created above any character is called v

THTH T8 2010 ¥, fHdt F¥aeR F FWR TP B HIge’ B 91471 ol JHdl 8,511 FHeaargl
1. Topscript / CIAEHY
2. Subscript / JapY

3. Superscript / gURTEHY
4, Topcharacter / [ RER

Correct Answer :-

« Superscript / JIRISHY
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14) What is the purpose of a section break in MS Word 2007? /
THTY T8 2007 N VIR 9P BT LA FT 8?2

1. Section breaks let you divide your document into sections, but doesn’t allow you to apply different headers and footers and
formatting per section. /

AT 3 ST Y ST BT ST & T B 3 2 AT o R et 1 e AR TR S
BRHTET B BT AT T8l 3 B

2. Section breaks let you divide your document into sections, allowing you to apply different headers and footers and formatting per
section. /

TR Vb I T STRHC BT U B FIUIRIT B3 T 3, ORI 31T SHTT-31eRT 88 a7 Pex 3R Uil Jae
BRARTT A R T B

3. Section breaks let you multiply your document into sections. /
IR b 3ATTDT 3T ST BT SFHTT H 0T B 3 B

4, Section breaks let you separate text around objects on web pages. /

YT b 3T JTUSI TR SHTsolae] P HTH-UTH &b SR BT (a7 H3 H Hag Hd o

Correct Answer :-

« Section breaks let you divide your document into sections, allowing you to apply different headers and footers and formatting per

section. /
I S MU 3T STagHC BT SFHTT H AU HR a1 B, ORI 3177 S1eT-31erT §eR a1 Hex 3R U Ja=r
TR AN HR Tbd &

15) The CPU and memory are located on the .

HifgeRaut = wRagag
1. Expansion board / Qa"\q'a"\"l:f EIS)

2. Storage device / TR ﬁc',am

3. Output device / 3T3CYC %EI‘IEQ

4. Mother board / TG S8

Correct Answer :-

« Mother board / HaQX EISS

16) Which one of the following statements about software is CORRECT? /
Airedw F IR § Fafifa § ¥ s sy adt @2

1. It cannot be manipulated. / Eﬂﬁ %Taﬂ :lﬁ fopar S g ar %I

2. It cannot be touched. / 3@ BN :lﬁffﬂ g dl %I

3. It cannot be changed. / 3@ E q%)f\_fﬂ Hohdl %I

4, It does not have instructions or programs. / sﬂﬁ A= ar v BEEEG %I

Correct Answer :-

« It cannot be touched. / 3@ BN :l_bprlT g dl %I

17) CANCELLED
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Which key is used to delete a character to its right side of the cursor in MS Word 2010? /

THLY T8 2010 H HIR F I TP TP e B g1 P e for poft 1 Iuah fopar wiran 82
1. End button / U8 e

2. Backspace button / IHWY g

3. Delete button / f&dile ge

4. Esc button / Esc dc

Correct Answer :-

« Delete button / fS¢lie ge
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